[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

2 © 2 M
Q Q o (5]
g g g 8
= = S z
] 8 S 107
=
=]
o
=] e =] S
K 3 s 3
o 14 o 14
O'TJ 2 4 6 8 10 12 14 16 18 20 0"0 2 4 6 8 10 12 14 16 18 20 0'“() 2 4 6 8 10 12 14 16 18 20 CO 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
[—— BN oI N _time
[ Nofreco track vs. 4 ———— Bé H-AS s time '
2 L L2
E b - N TR
= s §
R kS -
o v o v o v
K 3 s
o 14 o
0. o. o




	Contents
	Page 1


